Further Practices


Further Practice 7.1
Basic

1. The number of people in a car travelling along a road over a 5-minute period was recorded. The results are given below.

	3
	1
	4
	2
	2
	2
	3
	1
	3
	4

	2
	2
	3
	4
	5
	4
	1
	1
	3
	2

	3
	2
	2
	1
	1
	4
	5
	6
	2
	2


(a) Find the maximum number of people found in a car.
(b) Find the minimum number of people found in a car.

(c) Construct a frequency table to represent the information from the table above.

(d) Draw a histogram to represent the information from the table above.

2. A survey was conducted on a class of students to find out the number of pets they own. The results are shown in the table below.

	Number of pets
	0
	1
	2
	3
	4
	5

	Frequency (Number of students)
	3
	5
	12
	10
	4
	1


(a) Draw a histogram to represent the results found in the table above.

(b) How many students have 3 pets?

(c) How many students have less than 2 pets?

(d) What percentage of students have at least 4 pets? Give your answer correct to 
3 significant figures.
Intermediate
3. 
The ages of 30 office workers are given below.

	37
	24
	42
	45
	28
	29
	32
	30
	32
	33

	52
	25
	23
	33
	34
	35
	37
	38
	47
	42

	36
	36
	33
	27
	28
	49
	50
	27
	38
	32


(a) Using a class interval of 5, construct a frequency table.

(b) Draw a histogram to represent this distribution.
4. 
The number of books borrowed by students from a school library over a year was recorded and shown in the histogram below.

            Number of books borrowed by students from the library
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(a) Find the total number of students.

(b) What was the most common number of books borrowed?

(c) The fee for the membership is $2 per year. Every student who borrowed 50 or more books was given a $5 voucher. What percentage of membership fees did the library spend on the vouchers? Give your answer correct to 3 significant figures.

Challenging

5. 
The lengths, in millimetres, of 40 worms in a science laboratory were measured. 
The results are given below.

	35
	42
	32
	65
	49
	52
	69
	33
	30
	54

	51
	67
	38
	49
	57
	62
	36
	69
	42
	46

	49
	57
	51
	62
	39
	35
	60
	49
	43
	58

	53
	47
	65
	31
	52
	67
	69
	31
	65
	46


(a) Find the range of the lengths.

(b) Construct a frequency table using class intervals of 5 mm.

(c) Draw a histogram to display this distribution.
Further Practice 7.2
Basic

1. 
The pie chart shows the number of dishes sold at a food stall on a particular day. 

Copy and complete the corresponding table. 


	Dish
	Angle of sector
	Corresponding fraction

	Nasi Katok
	
	

	Mee Siam Kari
	
	

	Nasi Ayam
	
	

	Lontong
	
	

	Gado Gado
	
	


2. 350 students were asked to name their favourite football clubs. 110 of them named Mandarin United, 48 of them named Barder, 72 of them named Polypool, 54 of them named Aregano and of them 66 named Real Players. 
Draw a pie chart to illustrate the above information.
Intermediate

3. 
The nationality of students who attended Oxford University in a certain year is represented in the pie chart shown below.   
Oxford University students
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(a) Find the value of x. 

(b) Given that there were 1300 German students, find the total number of students.

(c) Find the percentage of students that were British. Give your answer correct to 
1 decimal place.

4. 
Minah interviewed 40 students to find out their favourite fruits. The results are shown in  

    
the frequency table below.

	Fruit
	Rambutan
	Durian
	Mangosteen
	Mango
	Lychee

	Frequency (Number of students)
	5
	2
	x
	13
	3x


(a) Find the value of x.

(b) Draw a pie chart to illustrate the above information.

(c) What is the ratio of the number of students who preferred rambutans to lychees?
Challenging

5. 
On a particular day, the colour of shoes of a group of office workers was observed. 
The results are shown in the pie chart below.
Colour of shoes of office workers 
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(a) If 225 people wore brown shoes, find 

(i) the number of people who wore black shoes,

(ii) the number of people who wore white shoes,

(iii) the number of people who wore other-coloured shoes.

(b) If 20 people wore red shoes, what percentage of people wore red shoes? Give your answer correct to 3 significant figures.
Further Practice 7.3A
Basic

1. 
Find the mean of each of the following data sets.

(a) 1, 1, 2, 3, 4, 4, 4, 5 and 6

(b) 27.2, 23.4, 27.8, 32.3 and 31.2
2. 
The number of muffins eaten by a group of students is shown in the table below. Find the mean number of muffins eaten per student. 
	Number of muffins
	1
	2
	3
	4
	5

	Number of students
	4
	10
	8
	6
	2


Intermediate

3. 
Seven girls and three boys weighed themselves. The mean weight was 48 kg.

(a) Find the total weight of the ten children.

(b) Given that the mean weight of the seven girls was 42 kg, find the mean weight of the three boys.
Challenging
4. 
The mean age of five siblings is 7 years. Isabel, the oldest, is 10 years old. Tom is [image: image3.emf](SR
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 of Isabel’s age. Mary is 1 year younger than Tom. John and James are twins. How old will John be in 3 years’ time?
5. 
The table shows the number of chickens bought by each housewife on a particular day at a market.

	Number of chickens
	0
	1
	2
	3
	4
	5

	Frequency (Number of housewives)
	16
	58
	38
	x
	6
	2


Given that the mean number of chickens bought was 1.72, find the value of x.
Further Practice 7.3B

Basic

1. 
Find the median and mode(s) of each of the following data sets.

(a) 7, 8, 1, 3, 2, 7, 4, 6, 7


(b) 22 kg, 32 kg, 30 kg, 27 kg, 22 kg, 28 kg, 30 kg, 31 kg
2. 
A class of students was asked the number of pairs of running shoes they had. The results are shown in the table below.

	Number of pairs of running shoes
	0
	1
	2
	3

	Frequency (Number of students)
	2
	16
	18
	4


Find the
(a) median; and

(b) mean number of pairs of running shoes. 
Intermediate

3. 
The table shows the number of drinks students drank during a sports meet.

	Number of drinks
	0
	1
	2
	3
	4
	5

	Frequency (Number of students)
	2
	97
	83
	151
	187
	80


Find the 
(a) mode;  
(b) median; and

(c) mean number of drinks. 
4. 
The ages, in years, of ten children are shown below.

8, 11, 11, 12, 11, 6, 5, 2, 4, 10
Find the

(a) mean age;
(b) median age; and
(c) new median age when two more children aged 7 and 9, are added to the 
group. 
Challenging

5. 
A data set consists of six whole numbers. They range from 5 to 9. Given that the median and mean are 7, and the modes are 6 and 8, find two possible data sets.
Number of books





Nasi Katok
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